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MASTER OF COMMERCE 

(M. COM.)  

Term-End Examination 

June, 2024 

MCO–22 : QUANTITATIVE ANALYSIS FOR 

MANAGERIAL APPLICATIONS 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt any five questions. All questions 

carry equal marks.  

1. Discuss the applications of quantitative 

techniques in various functional areas of 

management. Elucidate your answer with the 

help of a suitable example. 12+8 

2. What do you understand by the term 

‘Probability theory’ ? Explain different 

approaches to Probability theory. 5+15 

3. What is a Chi-square distribution ? How would 

you use it in testing the goodness of fit and 

testing independence of categorized data ? 6+14 
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4. Bring out the points of similarities and 

differences between stratified sampling and 

cluster sampling. Which one is preferred in 

what circumstances ? 10+10 

5. What do you understand by decision theory ? 

What are the key issues in decision theory ? 

Explain decision tree approach for managerial 

applications. 5+5+10 

6. Find out Spearman’s rank coefficient of 

correlation with the help of the following data :  
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7. The mean square deviation of set of n 

observations 1 2, ,........, nx x x  about a point C is 

defined as :  20 

 
2

1

1
X C

n

iin 
   

The mean square deviation about – 2 and 2 are 

18 and 10 respectively, then calculate standard 

deviation of this set of observations.  

8. Write short notes on any four of the following :  

5×4=20 

(a) Mathematical properties of Median 

(b) One-tailed test 

(c) Hypothesis Testing Procedure 

(d) Regression 

(e) Scalar matrix 

(f) Sampling with replacement  
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(Goodness of fit and testing)
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